
Case (A): If the lift is un-accelerated  
i.e. a = 0 (either v = 0 or V = constant)  

  yy maF   
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 That is effective weight of the body in 
a lift moving with constant velocity is 
equal to the actual weight of the body. 

 Effective value of acceleration due to 
gravity: 
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Case (B): When the lift moves up with acceleration A 
 

                          
   

                yy maF   
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                   agmN'     ………. (iii) 
i.e.,               mgN'   
i.e., it appears as if the weight of the body (effective weight) has 

become more than actual weight.  
The effective value of acceleration due to gravity inside the lift  


